MINIMAL SPANNING TREE STATION
Vocabulary – Spanning Tree, Cycle, Minimal Spanning Tree, Kruskal’s Algorithm

	A train company wants to create a rail network with the smallest contruction cost that will connect 6 cities (A, B, C, D, E, and F).  Use the data in the table to create a minimal spanning tree.  What is the solution (the cost of the minimal spanning tree)?

	The lengths between the city pairs are given in the table below:

B
18
C
9
36
D
12
14
11
E
16
9
6
19
F
23
4
18
26
14
A
B
C
D
E


	Use Kruskal’s Algorithm to determine the minimum spanning tree in the graph below.  The numbers on the edges represent the number of miles between each lettered city.  Copy and highlight the minimal spanning tree.
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	Use Kruskal’s Algorithm to determine the minimum spanning tree in the graph below.  The numbers on the edges represent the number of hours needed to travel between each lettered city.  
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(a) List the sequence of steps taken, e.g. "edge (c,d) rejected because..." or "edge (e,f) accepted". 

(b) Draw the spanning tree and give its cost.



	A spanning tree with 5 vertices has how many edges?

A spanning tree with 6 vertices has how many edges?

A spanning tree with n vertices has how many edges?


	


